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domain) 000 MOO00000000 {(z,y) € R?| 2> +y*<M } 00000000 (bounded)
0oooooo

0D000000000000000000 http://math.cs.kitami-it.ac.jp/ kouno/kougi.html 00 00000
WR™ = {(x1,...,2n)| #, €RGE=1,...,n)} 0 n 00000000000 P = (21,...,7,) 00000020

P=(21,...,%0), Q = (Y1,...,yn) 00000 d(P,Q) =+/(z1 —v1)2+ - + (zn —yn)2 000000

29



00 22 (00000) 0000000000000 0DO0OOOUOUOODOODOOOOOOOO
gboooobooooood
roOoOoOoOoOOOOOOOmOOOOOOOOOOOOOEROOOO

22 00000

gboboboboboooobo200000000000000000000 20000000
000000 (oo 30000000) 0000 nO0000O0O000 20000 nO000OO0OOO
0000000000 R?00000 DOOOOOOOOD 200000000

f:D—R

gooobooooooobo 1oobobooboboboboobooboboobooboooo 2000
gboboboooboobobgosgbooboobooouoboooooooooooooooooooo
gbooooooboooboobooooboooooaon

00 23 (00) D000O0O0OOOO
f+D—R

O0000P=(z,y) 00000 Py=(a,b) 0000000 f(P)=f(z,y) 00000000 AD
000000000dP,Py) =+ (z—a)?+(y—0)20000000000000]|f(P)—A|D
000000000000

P TPV My T =4 gy )
-
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22 + 42

((z,y) # (0,0)) O

lim f(z,y) =
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5) e +by 6) z = zarctan —
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